# APPENDIX: ADOLESCENT DEPRESSION -12 MONTH MEASURES By Medical Group and Clinic

# ANNUAL HEALTH CARE QUALITY REPORT

2020 REPORT YEAR (2019 DATES OF SERVICE)





©2021 MN Community Measurement. All Rights Reserved.

## TABLE OF CONTENTS

#### PERFORMANCE BY MEDICAL GROUP

- 2 Adolescent Depression: Follow-Up PHQ-9/PHQ-9M at 12 Months
- 4 Adolescent Depression: Response at 12 Months
- 6 Adolescent Depression: Remission at 12 Months

#### PERFORMANCE BY CLINIC

- 8 Adolescent Depression: Follow-Up PHQ-9/PHQ-9M at 12 Months
- 12 Adolescent Depression: Response at 12 Months
- 16 Adolescent Depression: Remission at 12 Months

## PERFORMANCE BY MEDICAL GROUP ADOLESCENT DEPRESSION: FOLLOW-UP PHQ-9/PHQ-9M AT 12 MONTHS

2020 report year (2019 dates of service)

MEDICAL GROUP	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	38.9%		
Allina Health	•	1,712	39.2%	40.1%	0.98
Alomere Health		63	57.1%	39.7%	1.44
Altru Health System		36	5.6%	38.8%	0.14
Amery Hospital and Clinic	•	48	43.8%	37.1%	1.18
Associated Clinic of Psychology		124	27.4%	38.7%	0.71
CentraCare Health		905	45.9%	37.6%	1.22
Children's Minnesota	•	299	39.8%	41.0%	0.97
Cuyuna Regional Medical Center	•	42	31.0%	36.6%	0.85
Entira Family Clinics (formerly Family Health Services MN)		138	52.9%	38.6%	1.37
Essentia Health		437	28.2%	36.3%	0.78
Fairview Health Services		821	44.6%	41.0%	1.09
Fairview Mesaba Clinics	•	53	39.6%	36.1%	1.10
Glencoe Regional Health Services	•	50	38.0%	40.1%	0.95
Grand Itasca Clinic		55	20.0%	36.6%	0.55
HealthPartners Central Minnesota Clinics	•	52	38.5%	38.4%	1.00
HealthPartners Clinics		772	43.0%	39.6%	1.09
Hennepin Healthcare		77	16.9%	34.3%	0.49
Lake Region Healthcare		76	55.3%	38.8%	1.42
Lakeland Mental Health Center	•	153	37.3%	36.9%	1.01
Mankato Clinic, Ltd.		220	63.2%	38.3%	1.65
Mayo Clinic	•	354	43.8%	40.3%	1.09
Mayo Clinic Health System Minnesota Mental Health Clinics (Eagan, Apple	•	717	36.3%	39.2%	0.93
Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	•	426	35.7%	38.6%	0.92
North Memorial		101	20.8%	36.9%	0.56
Northfield Hospital + Clinics		41	0.0%	34.6%	0.00
NorthPoint Health & Wellness Center	•	86	29.1%	30.3%	0.96
Northwestern Mental Health Center	•	53	30.2%	37.9%	0.80
Olmsted Medical Center	•	145	40.0%	35.4%	1.13
Park Nicollet Health Services		890	56.3%	40.5%	1.39
Perham Health	•	35	25.7%	37.4%	0.69
Sanford Health		955	28.9%	38.6%	0.75

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

*2020 report year (2019 dates of service)* 

2020 report year (2019 dates of service)							
MEDICAL GROUP	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio		
STATEWIDE AVERAGE		11,658	38.9%				
South Lake Pediatrics	•	200	42.0%	40.9%	1.03		
Southdale Pediatric Associates, Ltd		341	30.5%	39.7%	0.77		
St. Croix Regional Medical Center	•	80	43.8%	39.7%	1.10		
St. Luke's Clinics		67	11.9%	35.7%	0.33		
Stellis Health, PA		153	25.5%	40.3%	0.63		
The Emily Program	•	31	32.3%	39.1%	0.82		
Tri-County Health Care		32	56.3%	39.0%	1.44		
Unity Family Healthcare, Family Medical Center	•	65	40.0%	37.6%	1.07		
University of Minnesota Physicians	•	73	23.3%	34.0%	0.69		
Voyage Healthcare	•	47	38.3%	40.7%	0.94		
Wayzata Children's Clinic	•	67	41.8%	42.7%	0.98		
Welia Health	•	61	42.6%	31.9%	1.34		
Winona Health Services		31	16.1%	38.0%	0.42		

▲ Above statewide average ● Average ▼ Below statewide average Medical groups/clinics with less than 30 patients are not included in tables

2020 report year (2019 dates of service)

ADOLESCENT DEPRESSION: RESPONSE AT 12 MONTHS									
2020 report year (2019 dates of service)									
MEDICAL GROUP	Performance	Patients	Actual Rate	Expected Rate	Actual / Expectec Ratio				
STATEWIDE AVERAGE		11,658	14.5%						
Allina Health		1,712	12.3%	14.9%	0.83				
Alomere Health	•	63	22.2%	14.5%	1.53				
Altru Health System	$\mathbf{\overline{v}}$	36	2.8%	13.9%	0.20				
Amery Hospital and Clinic	•	48	18.8%	13.8%	1.36				
Associated Clinic of Psychology	•	124	12.1%	14.4%	0.84				
CentraCare Health		905	18.6%	14.0%	1.33				
Children's Minnesota	•	299	13.7%	15.3%	0.90				
Cuyuna Regional Medical Center	•	42	21.4%	13.4%	1.61				
Entira Family Clinics (formerly Family Health Services MN)		138	26.1%	14.8%	1.77				
Essentia Health		437	8.9%	13.5%	0.66				
Fairview Health Services	•	821	16.4%	15.3%	1.07				
Fairview Mesaba Clinics	•	53	9.4%	13.2%	0.71				
Glencoe Regional Health Services	•	50	16.0%	14.6%	1.10				
Grand Itasca Clinic	•	55	9.1%	13.7%	0.66				
HealthPartners Central Minnesota Clinics	•	52	21.2%	14.0%	1.51				
HealthPartners Clinics	•	772	15.5%	14.7%	1.05				
Hennepin Healthcare		77	5.2%	12.5%	0.42				
Lake Region Healthcare		76	25.0%	14.1%	1.77				
Lakeland Mental Health Center	•	153	16.3%	14.0%	1.17				
Mankato Clinic, Ltd.		220	29.1%	14.0%	2.08				
Mayo Clinic	•	354	18.6%	15.0%	1.25				
Mayo Clinic Health System	•	717	13.4%	14.4%	0.93				
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	•	426	11.5%	14.9%	0.77				
North Memorial	•	101	9.9%	14.1%	0.70				
Northfield Hospital + Clinics	•	41	0.0%	13.9%	0.00				
NorthPoint Health & Wellness Center	•	86	12.8%	10.8%	1.18				
Northwestern Mental Health Center	•	53	11.3%	13.7%	0.83				
Olmsted Medical Center	•	145	15.9%	13.2%	1.20				
Park Nicollet Health Services		890	21.8%	15.1%	1.44				
Perham Health	•	35	11.4%	14.3%	0.80				
Sanford Health		955	11.2%	14.4%	0.78				
South Lake Pediatrics	•	200	15.0%	15.6%	0.96				
Southdale Pediatric Associates, Ltd		341	9.1%	15.2%	0.60				

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

ADOLESCENT DEPRESSION: RESPONSE AT 12 MONTHS 2020 report year (2019 dates of service)								
MEDICAL GROUP	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		11,658	14.5%					
St. Croix Regional Medical Center	•	80	16.3%	14.5%	1.12			
St. Luke's Clinics		67	3.0%	13.6%	0.22			
Stellis Health, PA		153	5.9%	15.2%	0.39			
The Emily Program	•	31	9.7%	15.3%	0.63			
Tri-County Health Care	•	32	18.8%	14.4%	1.30			
Unity Family Healthcare, Family Medical Center	•	65	16.9%	13.5%	1.25			
University of Minnesota Physicians		73	2.7%	12.6%	0.22			
Voyage Healthcare	•	47	19.2%	15.3%	1.25			
Wayzata Children's Clinic	•	67	14.9%	16.0%	0.93			
Welia Health		61	21.3%	13.1%	1.62			
Winona Health Services		31	0.0%	14.4%	0.00			

2020 report year (2019 dates of service)

ADOLESCENT DEPRESSION: REMISSION AT 12 MONTHS 2020 report year (2019 dates of service)								
MEDICAL GROUP	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		11,658	7.8%					
Allina Health		1,712	5.3%	8.0%	0.66			
Alomere Health	•	63	12.7%	7.9%	1.61			
Altru Health System	•	36	2.8%	7.7%	0.36			
Amery Hospital and Clinic	•	48	6.3%	7.2%	0.87			
Associated Clinic of Psychology	•	124	6.5%	8.1%	0.80			
CentraCare Health		905	11.5%	7.7%	1.49			
Children's Minnesota	•	299	8.0%	8.7%	0.92			
Cuyuna Regional Medical Center		42	16.7%	7.0%	2.40			
Entira Family Clinics (formerly Family Health Services MN)		138	18.1%	8.1%	2.24			
Essentia Health	•	437	4.8%	7.0%	0.69			
Fairview Health Services		821	9.1%	8.1%	1.13			
Fairview Mesaba Clinics	•	53	5.7%	7.0%	0.81			
Glencoe Regional Health Services		50	10.0%	8.0%	1.25			
Grand Itasca Clinic	•	55	5.5%	7.0%	0.78			
HealthPartners Central Minnesota Clinics		55	5.5% 11.5%	7.3%	1.59			
	•		7.3%	7.9%	0.92			
HealthPartners Clinics		772	2.6%					
Hennepin Healthcare		77		6.6%	0.40			
Lake Region Healthcare		76	10.5%	8.0%	1.32			
Lakeland Mental Health Center		153	7.2%	7.3%	0.99			
Mankato Clinic, Ltd.		220	16.4%	7.8%	2.09			
Mayo Clinic		354	11.0%	8.3%	1.34			
Mayo Clinic Health System	•	717	7.7%	7.9%	0.97			
Minnesota Mental Health Clinics (Eagan, Apple Valley, Edina, Lakeville, Maplewood, Minneapolis, Woodbury)	▼	426	5.2%	7.8%	0.66			
North Memorial	•	101	5.9%	7.3%	0.81			
Northfield Hospital + Clinics		41	0.0%	7.7%	0.00			
NorthPoint Health & Wellness Center		86	7.0%	5.7%	1.22			
Northwestern Mental Health Center	•	53	7.6%	7.2%	1.05			
Olmsted Medical Center		145	11.0%	7.1%	1.55			
Park Nicollet Health Services		890	12.5%	8.2%	1.52			
Perham Health	•	35	5.7%	7.3%	0.79			
Sanford Health	•	955	5.5%	7.6%	0.72			
South Lake Pediatrics	•	200	10.5%	8.7%	1.21			
Southdale Pediatric Associates, Ltd	<b>V</b>	341	4.4%	8.5%	0.52			

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

ADOLESCENT DEPRESSION: REMISSION AT 12 MONTHS 2020 report year (2019 dates of service)								
MEDICAL GROUP	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio			
STATEWIDE AVERAGE		11,658	7.8%					
St. Croix Regional Medical Center	•	80	8.8%	7.7%	1.14			
St. Luke's Clinics	•	67	3.0%	7.8%	0.39			
Stellis Health, PA		153	1.3%	8.0%	0.16			
The Emily Program	•	31	3.2%	8.0%	0.40			
Tri-County Health Care	•	32	3.1%	7.1%	0.44			
Unity Family Healthcare, Family Medical Center	•	65	10.8%	7.6%	1.42			
University of Minnesota Physicians	•	73	2.7%	6.5%	0.42			
Voyage Healthcare	•	47	10.6%	8.3%	1.28			
Wayzata Children's Clinic	•	67	11.9%	8.7%	1.37			
Welia Health	•	61	13.1%	7.1%	1.84			
Winona Health Services		31	0.0%	7.3%	0.00			

## PERFORMANCE BY CLINIC ADOLESCENT DEPRESSION: FOLLOW-UP PHQ-9/PHQ-9M AT 12 MONTHS

2020 report year (2019 dates of service)

CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	38.9%		
AHC - Amery	•	31	41.9%	37.3%	1.13
Alexandria Clinic, A Service of Alomere Health		63	57.1%	39.7%	1.44
Allina Health - Allina Mental Health - ANW	•	38	44.7%	40.6%	1.10
Allina Health - Allina Mental Health - United	•	47	48.9%	38.1%	1.28
Allina Health - Bloomington	•	46	28.3%	38.8%	0.73
Allina Health - Buffalo	•	55	40.0%	41.5%	0.96
Allina Health - Cambridge	•	108	37.0%	39.5%	0.94
Allina Health - Champlin	•	47	42.6%	40.9%	1.04
Allina Health - Coon Rapids	•	185	41.1%	40.3%	1.02
Allina Health - Cottage Grove	•	45	37.8%	41.3%	0.92
Allina Health - Eagan	•	43	46.5%	39.7%	1.17
Allina Health - Elk River	•	31	38.7%	40.0%	0.97
Allina Health - Faribault	•	69	33.3%	38.2%	0.87
Allina Health - Farmington	•	34	32.4%	41.6%	0.78
Allina Health - Forest Lake	•	37	40.5%	40.0%	1.01
Allina Health - Hastings	•	52	30.8%	42.0%	0.73
Allina Health - Inver Grove Heights	•	32	34.4%	41.2%	0.83
Allina Health - Isanti	•	33	48.5%	39.9%	1.22
Allina Health - Maple Grove	•	44	56.8%	40.3%	1.41
Allina Health - New Ulm Medical Center	•	67	29.9%	41.1%	0.73
Allina Health - Northfield	•	144	47.9%	41.0%	1.17
Allina Health - Ramsey	•	41	22.0%	40.0%	0.55
Allina Health - Richfield	•	39	38.5%	38.0%	1.01
Allina Health - West St. Paul	•	38	29.0%	37.5%	0.77
Allina Health - Woodbury	•	93	48.4%	41.1%	1.18
Associated Clinic of Psychology-Apple Valley	•	57	28.1%	40.8%	0.69
Carris Health - Willmar Main Clinic	•	83	36.1%	35.7%	1.01
CentraCare Clinic - Big Lake	•	31	61.3%	38.7%	1.58
Centracare Clinic - SCMG Northwest	•	73	45.2%	37.5%	1.21
Centracare Clinic - SCMG St. Cloud Medical Group - South	•	30	36.7%	39.7%	0.92
CentraCare Health Plaza - Pediatrics	•	69	47.8%	38.6%	1.24
Children's MN Partners in Pediatrics Brooklyn Park	•	47	40.4%	40.0%	1.01
Children's MN Partners in Pediatrics Calhoun	•	32	50.0%	41.4%	1.21

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

*2020 report year (2019 dates of service)* 

CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	38.9%		
Children's MN Partners in Pediatrics Maple Grove	•	75	42.7%	41.1%	1.04
Children's MN Partners in Pediatrics Plymouth	•	45	40.0%	40.4%	0.99
Children's MN Partners in Pediatrics Rogers	•	64	43.8%	41.9%	1.05
EH Central Baxter Clinic	•	31	19.4%	41.3%	0.47
EH East Duluth Clinic 1st St	•	47	25.5%	35.9%	0.71
EH East West Duluth Clinic	•	33	51.5%	35.6%	1.45
EH West South University Clinic	•	43	18.6%	38.2%	0.49
Family Medical Center	•	64	40.6%	37.5%	1.08
Glencoe Regional Health Services - Glencoe	•	42	42.9%	40.1%	1.07
Grand Itasca Clinic	$\bullet$	55	20.0%	36.6%	0.55
HealthPartners - Anoka	•	41	19.5%	40.4%	0.48
HealthPartners - Como		43	60.5%	37.7%	1.61
HealthPartners - Curve Crest Clinic	•	104	44.2%	40.7%	1.09
HealthPartners - Elk River	•	37	37.8%	40.5%	0.93
HealthPartners - Maplewood	•	35	37.1%	37.4%	0.99
HealthPartners - Regions BH Maplewood	•	33	60.6%	40.1%	1.51
HealthPartners - Regions BH Woodbury	•	67	55.2%	39.9%	1.38
HealthPartners - West Behav Hlth		43	62.8%	38.4%	1.64
HealthPartners - Woodbury	•	39	33.3%	42.0%	0.79
HealthPartners Central Minnesota Clinics	•	52	38.5%	38.4%	1.00
Lake Region Healthcare Clinic Services - Fergus Falls	•	71	53.5%	39.0%	1.37
Lakeland Mental Health Center - Detroit Lakes	•	34	29.4%	37.6%	0.78
Lakeland Mental Health Center - Fergus Falls	•	63	34.9%	37.6%	0.93
Lakeland Mental Health Center - Moorhead	•	42	50.0%	35.7%	1.40
M Health Fairview Clinic Andover	•	46	45.7%	41.6%	1.10
M Health Fairview Clinic Cottage Grove	•	40	35.0%	40.1%	0.87
M Health Fairview Clinic Elk River	•	59	55.9%	42.1%	1.33
M Health Fairview Clinic Maplewood	•	51	41.2%	40.0%	1.03
M Health Fairview Clinic Tamarack	•	83	41.0%	42.4%	0.97
M Health Fairview Clinic Woodwinds		52	61.5%	41.4%	1.49
M Health Fairview Clinic Wyoming	•	31	38.7%	42.6%	0.91
Mankato Clinic - Children's Health Center	•	39	51.3%	38.6%	1.33
Mankato Clinic - Department of Psychiatry & Psychology		118	73.7%	38.6%	1.91
Mayo Clinic - Baldwin Building, Pediatrics		80	56.3%	40.1%	1.40
		37	16.2%	40.1% 37.9%	0.43
Mayo Clinic - Generose Building Mayo Clinic - Northeast	▼ ▲	50	62.0%	40.8%	1.52
Mayo Clinic - Northeast Mayo Clinic - Northwest		40	47.5%	40.8%	1.52

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

2020 report year (2019 dates of service)

CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	38.9%		
Mayo Clinic - Speciality Practice	$\checkmark$	58	20.7%	39.7%	0.52
Mayo Clinic Health System Albert Lea	•	72	31.9%	38.7%	0.83
Mayo Clinic Health System Austin	•	135	42.2%	38.8%	1.09
Mayo Clinic Health System Fairmont	•	38	47.4%	36.8%	1.29
Mayo Clinic Health System Faribault Campus Location	•	34	29.4%	39.9%	0.74
Mayo Clinic Health System Mankato Eastridge	•	46	23.9%	37.8%	0.63
Mayo Clinic Health System Mankato Specialty Clinic	•	32	62.5%	40.6%	1.54
Mayo Clinic Health System Owatonna	•	119	29.4%	39.6%	0.74
Mayo Clinic Health System Red Wing	•	66	21.2%	39.9%	0.53
Minnesota Mental Health Clinics - Eagan Clinic	•	254	32.3%	38.4%	0.84
Minnesota Mental Health Clinics- Lakeville Clinic		45	71.1%	39.7%	1.79
Minnesota Mental Health Clinics- Maplewood Clinic	•	50	26.0%	37.4%	0.70
Minnesota Mental Health Clinics- Woodbury Clinic	•	55	40.0%	40.0%	1.00
NorthPoint Health & Wellness Center	•	86	29.1%	30.3%	0.96
Northwestern Mental Health Center	•	53	30.2%	37.9%	0.80
Olmsted Medical Center - Rochester Northwest	•	35	25.7%	33.6%	0.77
Olmsted Medical Center - Rochester Southeast	•	45	44.4%	37.1%	1.20
Park Nicollet Clinic - Brookdale	•	37	51.4%	35.3%	1.46
Park Nicollet Clinic - Burnsville	•	33	42.4%	39.8%	1.07
Park Nicollet Clinic - Chanhassen	•	64	53.1%	40.9%	1.30
Park Nicollet Clinic - Eagan	•	53	56.6%	39.9%	1.42
Park Nicollet Clinic - Lakeville	•	33	39.4%	41.4%	0.95
Park Nicollet Clinic - Prior Lake	•	32	56.3%	42.4%	1.33
Park Nicollet Clinic - Psychiatry		278	67.3%	41.1%	1.64
Park Nicollet Clinic - Shakopee		111	56.8%	41.2%	1.38
Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	35	51.4%	36.5%	1.41
Sanford Bemidji Main Clinic - Family Medicine	•	47	34.0%	35.1%	0.97
Sanford Fargo Children's Southwest Clinic	$\mathbf{\bullet}$	76	26.3%	41.6%	0.63
Sanford Fargo Professional Building - Behavioral Health	•	32	37.5%	41.5%	0.90
Sanford Health Alexandria Broadway Clinic	•	35	28.6%	36.2%	0.79
Sanford Health Brookings Clinic	•	34	29.4%	39.4%	0.75
Sanford Health Detroit Lakes Clinic	•	48	31.3%	38.3%	0.82
Sanford Health Jamestown Clinic	•	34	26.5%	39.2%	0.67
Sanford Health Wahpeton Clinic	•	42	11.9%	37.7%	0.32
Sanford Health Watertown Clinic	•	38	36.8%	41.1%	0.90

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

*2020 report year (2019 dates of service)* 

CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	38.9%		
Sanford Moorhead Clinic - Pediatrics	•	39	43.6%	39.2%	1.11
South Lake Pediatrics - Childrens West	•	39	51.3%	41.1%	1.25
South Lake Pediatrics - Maple Grove	•	39	48.7%	41.2%	1.18
South Lake Pediatrics - Minnetonka	•	55	36.4%	40.6%	0.90
South Lake Pediatrics - Plymouth	•	32	37.5%	42.0%	0.89
Southdale Pediatric Associates, Ltd - Burnsville	•	120	36.7%	39.8%	0.92
Southdale Pediatric Associates, Ltd - Eden Prairie	•	82	26.8%	39.3%	0.68
Southdale Pediatric Associates, Ltd - Edina	$\bullet$	139	27.3%	39.8%	0.69
St Cloud Hospital - Behavioral Health Clinic		389	57.1%	37.7%	1.51
St. Croix Regional Medical Center - St. Croix Falls Clinic	•	43	37.2%	39.6%	0.94
Stellis Health-Buffalo Clinic	$\mathbf{V}$	55	21.8%	39.4%	0.55
Stellis Health-Monticello Clinic	•	74	31.1%	41.0%	0.76
Wayzata Children's Clinic - Minnetonka	•	33	39.4%	42.8%	0.92

▲ Above statewide average ● Average ▼ Below statewide average Medical groups/clinics with less than 30 patients are not included in tables

2020 report year (2019 dates of service)

2020 report year (2019 dates of service)					Actual
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expectec Ratio
STATEWIDE AVERAGE	-	11,658	14.5%		
AHC - Amery	•	31	22.6%	13.7%	1.65
Alexandria Clinic, A Service of Alomere Health	•	63	22.2%	14.5%	1.53
Allina Health - Allina Mental Health - ANW	•	38	7.9%	15.1%	0.52
Allina Health - Allina Mental Health - United	•	47	12.8%	14.0%	0.91
Allina Health - Bloomington	•	46	8.7%	14.6%	0.60
Allina Health - Buffalo	•	55	5.5%	15.4%	0.36
Allina Health - Cambridge	•	108	7.4%	14.5%	0.51
Allina Health - Champlin	•	47	12.8%	15.3%	0.83
Allina Health - Coon Rapids	•	185	14.6%	14.8%	0.99
Allina Health - Cottage Grove	•	45	8.9%	15.3%	0.58
Allina Health - Eagan	•	43	11.6%	15.0%	0.78
Allina Health - Elk River	•	31	9.7%	14.8%	0.65
Allina Health - Faribault	•	69	14.5%	14.3%	1.01
Allina Health - Farmington	•	34	14.7%	15.1%	0.97
Allina Health - Forest Lake	•	37	8.1%	15.0%	0.54
Allina Health - Hastings	•	52	11.5%	15.9%	0.72
Allina Health - Inver Grove Heights	•	32	12.5%	15.0%	0.83
Allina Health - Isanti	•	33	12.1%	14.8%	0.82
Allina Health - Maple Grove	•	44	15.9%	15.1%	1.06
Allina Health - New Ulm Medical Center	•	67	10.5%	14.9%	0.70
Allina Health - Northfield	•	144	20.8%	15.4%	1.35
Allina Health - Ramsey	•	41	12.2%	15.2%	0.80
Allina Health - Richfield	•	39	15.4%	14.3%	1.07
Allina Health - West St. Paul	•	38	18.4%	14.0%	1.31
Allina Health - Woodbury	•	93	12.9%	15.1%	0.85
Associated Clinic of Psychology-Apple Valley	•	57	12.3%	15.0%	0.82
Carris Health - Willmar Main Clinic	•	83	15.7%	13.7%	1.14
CentraCare Clinic - Big Lake	•	31	19.4%	14.3%	1.36
Centracare Clinic - SCMG Northwest	•	73	19.2%	14.0%	1.37
Centracare Clinic - SCMG St. Cloud Medical Group -		20	22.20/	14.00/	1 57
South		30	23.3%	14.8%	1.57
CentraCare Health Plaza - Pediatrics	•	69	20.3%	14.2%	1.43
Children's MN Partners in Pediatrics Brooklyn Park	•	47	10.6%	15.1%	0.71
Children's MN Partners in Pediatrics Calhoun	•	32	18.8%	15.4%	1.22
Children's MN Partners in Pediatrics Maple Grove	•	75	16.0%	15.4%	1.04
Children's MN Partners in Pediatrics Plymouth	•	45	20.0%	15.5%	1.29

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

*2020 report year (2019 dates of service)* 

CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	14.5%		
Children's MN Partners in Pediatrics Rogers	•	64	10.9%	15.4%	0.71
EH Central Baxter Clinic	•	31	9.7%	15.1%	0.64
EH East Duluth Clinic 1st St	•	47	6.4%	13.4%	0.47
EH East West Duluth Clinic	•	33	18.2%	13.3%	1.36
EH West South University Clinic	•	43	11.6%	14.3%	0.82
Family Medical Center	•	64	17.2%	13.5%	1.27
Glencoe Regional Health Services - Glencoe	•	42	16.7%	14.7%	1.13
Grand Itasca Clinic	•	55	9.1%	13.7%	0.66
HealthPartners - Anoka		41	2.4%	15.2%	0.16
HealthPartners - Como	•	43	18.6%	13.6%	1.37
HealthPartners - Curve Crest Clinic	•	104	15.4%	15.7%	0.98
HealthPartners - Elk River	•	37	21.6%	15.1%	1.43
HealthPartners - Maplewood	•	35	14.3%	13.6%	1.05
HealthPartners - Regions BH Maplewood	•	33	18.2%	14.8%	1.23
HealthPartners - Regions BH Woodbury	•	67	13.4%	14.6%	0.92
HealthPartners - West Behav Hlth	•	43	16.3%	14.3%	1.14
HealthPartners - Woodbury	•	39	15.4%	15.8%	0.97
HealthPartners Central Minnesota Clinics	•	52	21.2%	14.0%	1.51
Lake Region Healthcare Clinic Services - Fergus Falls	•	71	25.4%	14.2%	1.79
Lakeland Mental Health Center - Detroit Lakes	•	34	14.7%	14.2%	1.04
Lakeland Mental Health Center - Fergus Falls	•	63	11.1%	14.2%	0.78
Lakeland Mental Health Center - Moorhead		42	31.0%	13.6%	2.28
M Health Fairview Clinic Andover	•	46	6.5%	15.8%	0.41
M Health Fairview Clinic Cottage Grove	•	40	10.0%	15.0%	0.67
M Health Fairview Clinic Elk River	•	59	23.7%	15.9%	1.49
M Health Fairview Clinic Maplewood	•	51	13.7%	14.6%	0.94
M Health Fairview Clinic Tamarack	•	83	22.9%	15.8%	1.45
M Health Fairview Clinic Woodwinds	•	52	28.9%	15.6%	1.85
M Health Fairview Clinic Wyoming	•	31	22.6%	15.8%	1.43
Mankato Clinic - Children's Health Center	•	39	28.2%	14.1%	2.00
Mankato Clinic - Department of Psychiatry & Psychology		118	28.0%	13.9%	2.01
Mayo Clinic - Baldwin Building, Pediatrics		80	26.3%	14.5%	1.81
Mayo Clinic - Generose Building	<b>•</b>	37	20.370	14.9%	0.18
Mayo Clinic - Northeast		50	22.0%	14.3%	1.43
Mayo Clinic - Northwest	•	40	22.0%	15.3%	1.43
Mayo Clinic - Speciality Practice		58	15.5%	14.8%	1.47
Mayo Clinic Health System Albert Lea		72	11.1%	14.8%	0.81

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

*2020 report year (2019 dates of service)* 

CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	14.5%		
Mayo Clinic Health System Austin	•	135	16.3%	14.3%	1.14
Mayo Clinic Health System Fairmont	•	38	18.4%	13.4%	1.38
Mayo Clinic Health System Faribault Campus Location	•	34	11.8%	14.9%	0.79
Mayo Clinic Health System Mankato Eastridge	•	46	8.7%	13.9%	0.63
Mayo Clinic Health System Mankato Specialty Clinic	•	32	25.0%	14.3%	1.75
Mayo Clinic Health System Owatonna	•	119	12.6%	14.8%	0.85
Mayo Clinic Health System Red Wing	•	66	6.1%	14.9%	0.41
Minnesota Mental Health Clinics - Eagan Clinic	•	254	11.0%	14.8%	0.75
Minnesota Mental Health Clinics- Lakeville Clinic	•	45	20.0%	15.1%	1.33
Minnesota Mental Health Clinics- Maplewood Clinic	•	50	6.0%	14.5%	0.41
Minnesota Mental Health Clinics- Woodbury Clinic	•	55	12.7%	15.2%	0.84
NorthPoint Health & Wellness Center	•	86	12.8%	10.8%	1.18
Northwestern Mental Health Center	•	53	11.3%	13.7%	0.83
Olmsted Medical Center - Rochester Northwest	•	35	8.6%	12.5%	0.69
Olmsted Medical Center - Rochester Southeast	•	45	15.6%	13.7%	1.13
Park Nicollet Clinic - Brookdale	•	37	16.2%	12.9%	1.26
Park Nicollet Clinic - Burnsville	•	33	12.1%	14.7%	0.83
Park Nicollet Clinic - Chanhassen	•	64	18.8%	15.5%	1.21
Park Nicollet Clinic - Eagan	•	53	20.8%	14.8%	1.40
Park Nicollet Clinic - Lakeville	•	33	15.2%	15.8%	0.96
Park Nicollet Clinic - Prior Lake	•	32	21.9%	16.0%	1.37
Park Nicollet Clinic - Psychiatry	•	278	21.2%	15.1%	1.40
Park Nicollet Clinic - Shakopee		111	27.0%	15.3%	1.76
Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	35	14.3%	13.3%	1.08
Sanford Bemidji Main Clinic - Family Medicine	•	47	10.6%	13.7%	0.78
Sanford Fargo Children's Southwest Clinic	•	76	5.3%	15.6%	0.34
Sanford Fargo Professional Building - Behavioral Health	•	32	15.6%	15.4%	1.02
Sanford Health Alexandria Broadway Clinic	•	35	14.3%	14.7%	0.97
Sanford Health Brookings Clinic	•	34	11.8%	14.4%	0.82
Sanford Health Detroit Lakes Clinic	•	48	10.4%	14.1%	0.74
Sanford Health Jamestown Clinic	•	34	17.7%	15.0%	1.17
Sanford Health Wahpeton Clinic	•	42	4.8%	14.5%	0.33
Sanford Health Watertown Clinic	•	38	10.5%	15.3%	0.69
Sanford Moorhead Clinic - Pediatrics	•	39	10.3%	14.1%	0.73
South Lake Pediatrics - Childrens West	•	39	20.5%	15.5%	1.32

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

ADOLESCENT DEPRESSION: RESPONSE AT 12 MONTHS 2020 report year (2019 dates of service)						
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio	
STATEWIDE AVERAGE		11,658	14.5%			
South Lake Pediatrics - Maple Grove	•	39	18.0%	15.5%	1.16	
South Lake Pediatrics - Minnetonka	•	55	9.1%	15.7%	0.58	
South Lake Pediatrics - Plymouth	•	32	12.5%	16.1%	0.77	
Southdale Pediatric Associates, Ltd - Burnsville	•	120	12.5%	15.1%	0.83	
Southdale Pediatric Associates, Ltd - Eden Prairie	•	82	6.1%	15.1%	0.41	
Southdale Pediatric Associates, Ltd - Edina	•	139	7.9%	15.3%	0.52	
St Cloud Hospital - Behavioral Health Clinic		389	20.6%	13.8%	1.49	
St. Croix Regional Medical Center - St. Croix Falls Clinic	•	43	14.0%	14.7%	0.95	
Stellis Health-Buffalo Clinic	•	55	7.3%	15.0%	0.49	
Stellis Health-Monticello Clinic	•	74	6.8%	15.4%	0.44	
Wayzata Children's Clinic - Minnetonka	•	33	18.2%	16.3%	1.12	

2020 report year (2019 dates of service)

<i>2020 report year (2019 dates of service)</i>					Actual /
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Expected Ratio
STATEWIDE AVERAGE	-	11,658	7.8%		
AHC - Amery	•	31	3.2%	7.6%	0.43
Alexandria Clinic, A Service of Alomere Health	•	63	12.7%	7.9%	1.61
Allina Health - Allina Mental Health - ANW	•	38	5.3%	8.6%	0.61
Allina Health - Allina Mental Health - United	•	47	2.1%	8.1%	0.26
Allina Health - Bloomington	•	46	6.5%	7.7%	0.85
Allina Health - Buffalo	•	55	5.5%	8.3%	0.65
Allina Health - Cambridge	•	108	2.8%	7.9%	0.35
Allina Health - Champlin	•	47	6.4%	8.3%	0.77
Allina Health - Coon Rapids	•	185	4.3%	8.2%	0.53
Allina Health - Cottage Grove	•	45	6.7%	8.2%	0.81
Allina Health - Eagan	•	43	0.0%	7.3%	0.00
Allina Health - Elk River	•	31	3.2%	8.1%	0.40
Allina Health - Faribault	•	69	7.3%	7.4%	0.98
Allina Health - Farmington	•	34	5.9%	8.7%	0.68
Allina Health - Forest Lake	•	37	2.7%	8.3%	0.33
Allina Health - Hastings	•	52	5.8%	8.2%	0.70
Allina Health - Inver Grove Heights	•	32	6.3%	8.3%	0.75
Allina Health - Isanti	•	33	6.1%	7.7%	0.79
Allina Health - Maple Grove	•	44	6.8%	8.8%	0.77
Allina Health - New Ulm Medical Center	•	67	7.5%	8.4%	0.89
Allina Health - Northfield	•	144	9.7%	8.0%	1.22
Allina Health - Ramsey	•	41	2.4%	7.5%	0.33
Allina Health - Richfield	•	39	5.1%	7.8%	0.65
Allina Health - West St. Paul	•	38	7.9%	7.0%	1.12
Allina Health - Woodbury	•	93	6.5%	8.6%	0.75
Associated Clinic of Psychology-Apple Valley	•	57	5.3%	8.9%	0.59
Carris Health - Willmar Main Clinic	•	83	9.6%	7.6%	1.26
CentraCare Clinic - Big Lake	•	31	6.5%	7.6%	0.85
Centracare Clinic - SCMG Northwest	•	73	15.1%	7.9%	1.90
Centracare Clinic - SCMG St. Cloud Medical Group -		20	22.00/	0.00/	2.44
South		30	20.0%	8.2%	2.44
CentraCare Health Plaza - Pediatrics	•	69	14.5%	7.8%	1.85
Children's MN Partners in Pediatrics Brooklyn Park	•	47	10.6%	8.3%	1.28
Children's MN Partners in Pediatrics Calhoun	•	32	9.4%	8.8%	1.06
Children's MN Partners in Pediatrics Maple Grove	•	75	12.0%	8.7%	1.38
Children's MN Partners in Pediatrics Plymouth	•	45	8.9%	8.2%	1.09

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

*2020 report year (2019 dates of service)* 

CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio		
STATEWIDE AVERAGE	11,658						
Children's MN Partners in Pediatrics Rogers	•	64	3.1%	9.5%	0.33		
EH Central Baxter Clinic	•	31	3.2%	8.5%	0.38		
EH East Duluth Clinic 1st St	•	47	0.0%	6.8%	0.00		
EH East West Duluth Clinic	•	33	6.1%	6.5%	0.94		
EH West South University Clinic	•	43	9.3%	7.5%	1.24		
Family Medical Center	•	64	10.9%	7.6%	1.44		
Glencoe Regional Health Services - Glencoe	•	42	9.5%	8.2%	1.17		
Grand Itasca Clinic	•	55	5.5%	7.0%	0.78		
HealthPartners - Anoka		41	0.0%	7.9%	0.00		
HealthPartners - Como	•	43	4.7%	7.7%	0.60		
HealthPartners - Curve Crest Clinic	•	104	6.7%	7.9%	0.86		
HealthPartners - Elk River	•	37	13.5%	8.1%	1.67		
HealthPartners - Maplewood	•	35	5.7%	7.3%	0.79		
HealthPartners - Regions BH Maplewood	•	33	9.1%	8.0%	1.14		
HealthPartners - Regions BH Woodbury	•	67	7.5%	8.1%	0.92		
HealthPartners - West Behav Hlth	•	43	11.6%	7.8%	1.49		
HealthPartners - Woodbury	•	39	7.7%	8.5%	0.90		
HealthPartners Central Minnesota Clinics	•	52	11.5%	7.3%	1.59		
Lake Region Healthcare Clinic Services - Fergus Falls	•	71	11.3%	8.1%	1.39		
Lakeland Mental Health Center - Detroit Lakes	•	34	5.9%	7.5%	0.79		
Lakeland Mental Health Center - Fergus Falls	•	63	6.4%	7.3%	0.87		
Lakeland Mental Health Center - Moorhead	•	42	11.9%	7.5%	1.60		
M Health Fairview Clinic Andover	•	46	2.2%	8.0%	0.27		
M Health Fairview Clinic Cottage Grove	•	40	7.5%	8.0%	0.94		
M Health Fairview Clinic Elk River	•	59	13.6%	8.3%	1.64		
M Health Fairview Clinic Maplewood	•	51	5.9%	8.5%	0.69		
M Health Fairview Clinic Tamarack	•	83	14.5%	9.0%	1.60		
M Health Fairview Clinic Woodwinds	•	52	15.4%	8.4%	1.83		
M Health Fairview Clinic Wyoming	•	31	9.7%	8.0%	1.20		
Mankato Clinic - Children's Health Center	•	39	18.0%	7.3%	2.47		
Mankato Clinic - Department of Psychiatry & Psychology	•	118	15.3%	8.1%	1.89		
Mayo Clinic - Baldwin Building, Pediatrics	•	80	17.5%	8.1%	2.16		
Mayo Clinic - Generose Building	•	37	2.7%	7.3%	0.37		
Mayo Clinic - Northeast	•	50	10.0%	8.5%	1.18		
Mayo Clinic - Northwest	•	40	15.0%	8.3%	1.80		
Mayo Clinic - Speciality Practice	•	58	6.9%	8.1%	0.86		
Mayo Clinic Health System Albert Lea	•	72	4.2%	7.7%	0.54		

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

*2020 report year (2019 dates of service)* 

CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio
STATEWIDE AVERAGE		11,658	7.8%		
Mayo Clinic Health System Austin	•	135	6.7%	7.6%	0.87
Mayo Clinic Health System Fairmont	•	38	18.4%	7.3%	2.53
Mayo Clinic Health System Faribault Campus Location	•	34	8.8%	8.1%	1.09
Mayo Clinic Health System Mankato Eastridge	•	46	6.5%	7.6%	0.86
Mayo Clinic Health System Mankato Specialty Clinic	•	32	12.5%	8.6%	1.45
Mayo Clinic Health System Owatonna	•	119	8.4%	7.9%	1.06
Mayo Clinic Health System Red Wing	•	66	1.5%	7.9%	0.19
Minnesota Mental Health Clinics - Eagan Clinic	▼	254	3.5%	7.8%	0.46
Minnesota Mental Health Clinics- Lakeville Clinic	•	45	13.3%	8.2%	1.62
Minnesota Mental Health Clinics- Maplewood Clinic	•	50	2.0%	7.3%	0.27
Minnesota Mental Health Clinics- Woodbury Clinic	•	55	7.3%	8.4%	0.87
NorthPoint Health & Wellness Center	•	86	7.0%	5.7%	1.22
Northwestern Mental Health Center	•	53	7.6%	7.2%	1.05
Olmsted Medical Center - Rochester Northwest	•	35	8.6%	6.7%	1.29
Olmsted Medical Center - Rochester Southeast	•	45	8.9%	7.5%	1.18
Park Nicollet Clinic - Brookdale	•	37	5.4%	6.7%	0.81
Park Nicollet Clinic - Burnsville	•	33	6.1%	7.6%	0.80
Park Nicollet Clinic - Chanhassen	•	64	7.8%	8.0%	0.98
Park Nicollet Clinic - Eagan	•	53	13.2%	7.9%	1.68
Park Nicollet Clinic - Lakeville	•	33	3.0%	8.1%	0.38
Park Nicollet Clinic - Prior Lake	•	32	18.8%	8.1%	2.32
Park Nicollet Clinic - Psychiatry	•	278	13.7%	8.7%	1.58
Park Nicollet Clinic - Shakopee	•	111	13.5%	8.0%	1.68
Range Regional Health Services dba Fairview Mesaba Clinic - Hibbing	•	35	8.6%	7.1%	1.21
Sanford Bemidji Main Clinic - Family Medicine	•	47	8.5%	7.3%	1.16
Sanford Fargo Children's Southwest Clinic	•	76	2.6%	8.4%	0.31
Sanford Fargo Professional Building - Behavioral Health	•	32	9.4%	9.4%	1.00
Sanford Health Alexandria Broadway Clinic	•	35	5.7%	7.3%	0.78
Sanford Health Brookings Clinic	•	34	2.9%	7.7%	0.38
Sanford Health Detroit Lakes Clinic	•	48	4.2%	7.6%	0.55
Sanford Health Jamestown Clinic	•	34	5.9%	7.3%	0.81
Sanford Health Wahpeton Clinic	•	42	0.0%	6.8%	0.00
Sanford Health Watertown Clinic	•	38	5.3%	7.9%	0.67
Sanford Moorhead Clinic - Pediatrics	•	39	5.1%	7.5%	0.69
South Lake Pediatrics - Childrens West	•	39	18.0%	8.8%	2.04

▲ Above statewide average ● Average ▼ Below statewide average

Medical groups/clinics with less than 30 patients are not included in tables

*2020 report year (2019 dates of service)* 

2020 report year (2019 dates of service)						
CLINIC	Performance	Patients	Actual Rate	Expected Rate	Actual / Expected Ratio	
STATEWIDE AVERAGE		11,658	7.8%			
South Lake Pediatrics - Maple Grove	•	39	10.3%	9.0%	1.14	
South Lake Pediatrics - Minnetonka	•	55	9.1%	8.6%	1.06	
South Lake Pediatrics - Plymouth	•	32	6.3%	8.5%	0.74	
Southdale Pediatric Associates, Ltd - Burnsville	•	120	4.2%	8.6%	0.48	
Southdale Pediatric Associates, Ltd - Eden Prairie	•	82	3.7%	8.7%	0.42	
Southdale Pediatric Associates, Ltd - Edina	•	139	5.0%	8.4%	0.60	
St Cloud Hospital - Behavioral Health Clinic	•	389	11.3%	7.7%	1.46	
St. Croix Regional Medical Center - St. Croix Falls Clinic	•	43	4.7%	7.6%	0.61	
Stellis Health-Buffalo Clinic	•	55	1.8%	7.9%	0.23	
Stellis Health-Monticello Clinic	•	74	1.4%	8.1%	0.17	
Wayzata Children's Clinic - Minnetonka	•	33	15.2%	8.4%	1.80	